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PROPORTION

m Here are the ingredients for chocolate ice cream.

cream 400 ml
milk 500 mi
egg yolks 4
chocolate 1209
sugar 100g

/ N
\ Stefan has only 300ml of cream to make chocolate ice cream.
How much chocolate should he use?
/"
Show
your

method

-

v r

2019 Organiser Out Now... All-New Arithmetic Ninjas, Paired Domino HQ )

Activities, Self-Marking Papers, One Page Wonders and new Tutorial =

videos for last Summer’s SATs. Try it free press here! 4



https://www.youtube.com/watch?v=wwLJMu5SSWU
https://www.tes.com/teaching-resource/2019-ks2-sats-revision-ultimate-15-in-1-maths-organiser-11989842
https://drive.google.com/open?id=1DQSgTL_ByD_-Lo1AR-d41QPzAGHkzbAZ

Two matchsticks have the same length as three bottle tops.

How many bottle tops will have the same length as 50 matchsticks?

\

Show
your working.
You may get
a mark.

2000A KS2 Q15

Peanuts cost 60p for 100 grams.

What is the cost of 350 grams of peanuts?

\

Show
your working.
You may get
a mark.

Raisins cost 80p for 100 grams.

Jack pays £2 for a bag of raisins.

How many grams of raisins does he get?

b

Show
your working.
You may get
a mark.
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Mari is the presenter
of a weekly radio show.

She always plays five new songs
for every two old songs.

Last week she played 15 new songs.

How many songs did she play altogether?

You may get
a mark.

2001A KS2 Q21

Triangle ABC is isosceles and has a perimeter
of 20 centimetres.

Sides AB and AC are each twice as long as BC.
A

c

Not actual size

B
Calculate the length of the side BC.

N

Show
your working.
You may get
a mark.

Do not use a ruler.

b

cm



https://www.youtube.com/watch?v=4hXejAqifxs&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r&index=9
https://www.youtube.com/watch?v=sr0k9ccJFGk&index=5&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0
https://www.youtube.com/watch?v=EP13aWhM1as&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=5
https://www.youtube.com/watch?v=lLiHQX8Ou7A&index=8&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw

